2662
M.Tech 1st Semesier (ECE) CBCS Scheme
Examination, December-2017
INFORMATION & COMMUNICATION THEORY
Paper-MTECE 21C3
Time allowed : 3 hours] [Maximum marks : 100
Note : Attempt any five questions in total. All questions
carry equal marks.
1. (a) How entropy is calculated ? Explain various
| properties of entropy. | 10
(b) A channel is described by the following channel
matrix : 10
) 5050
Porx)= o
(i) Draw the channel diagram.
(ii) Find the channel capacity

2. (a) Explain the measurement of mutual information
and also derive the expression for channel
capacity. 10
(b) A discrete source emiE one of the eight symbols
once every millisecond with probabilities 1/8,
2/8, 3/8, 3/8, 5/8, 6/8, 7/8 and 7/8 respectively.
Determine the source entropy and information
rate. 10
22662-P-3-Q-8(17) [P.T.O.




3. (a)
(b)
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5. (a)
(b)
6. (a)
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